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A golf ball is hit from the ground, and its height in feet above the
ground is modeled by the function
h(t) = -16£> + 180t , wheres representsrthestimesin seconds af‘rer

the ball is hit. \&g \\\ci) Lj}ﬁ" NS

How long is the ball in the air?
ol

2ard)
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What is the maximum height of the ball? (MM)
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A softball is thrown upward with ‘ ! from
5 {1t above ground. The ball's height in feet above the ground is modeled

by h(t) = -16t> + V,o\t + hy , where t is the time in seconds after

the ball is r‘eleased.}n l'-h';\\l ih\'m\

Ve fOCHa,
h@#)=-14Z4+52¢ + S
A. What is the maximum height of the ball? (m M)
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B. At what time does the ball reach its maximum height? X- yalue o
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C. At what time(s) is the ball 16 feet high in the air?
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Each year a school's booster club holds a dance to raise funds. In the past, the profit the
club made after paying for the band and other costs has been modeled by the
funcTion}P(t) = -16:> +800¢- 400(? where t represents the ticket price in dollars.

A. What ticket price gives the maximum profit?

205 &

B. What is the maximum profit? ’hd"‘b( o~
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C. What ticket price would generate a profit of $5424?
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